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100
HE D 100
HE D100
HEHT 10000

1km?2 = 100 ha = 10000 a = 1000000 m?2
Slofl= 2T 2 100, 100, 100°] 17,
o}l 10000 YU tt.




o HZe] BRAE ek 2

ToHA 2
(%91 © kg)

758 604 295 17.6 66.2

> E: kg
> HE 499kg

(75.8 +60.4 + 29.5 4+ 17.6 + 66.2) + 5 = 49.9( kg)
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he =39 Holt 2 m? YU
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7‘m 25cm
/

12m = 1200 cm, 7m25 cm = 725 cm
ol 1200 x 725 = 870000( cm?) = 87(m?)




[ kbl gure 55 Az g,
()540m? =] Jem?

(2) 20300000 cm® = |m?

(3) 4000000 m? = ]km?

o

v Vv v v vy
0x
n

=F . 5400000
e 2030
S |

B

(1) 1m2 = 10000 cm?

(2) 10000 cm? = 1 m?

(3) 1km? = 1km x 1kmo|BEZ
1000 m x 1000 m = 1000000 m?
w2 4000000 m? = 4km? Yt




D 0.75km? @ 100m x 4000 cm
@80000a @ 25ha

® 100 m x 3000 cm

B

T 2o w92 1A A vt
@ 0.75km? = 75ha

@ 100m x 4000 cm = 4000 m2 = 0.4 ha
3 80000a = 800 ha,

@ 25ha

® 100m x 3000 cm = 3000 m? = 0.3 ha
B>0>@®>20>06
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@O 8000g = 8kg @ 0.4t =400kg
® 1300kg = 1.3t @o.m =170g

® 5630000 g = 5630 kg

1t = 1000 kg = 1000000 g
@ 0.17t = 170000 g
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© 7320kg = 7.32t

© 875000g = 875kg = 0.875 ¢
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200 447H9] A7 281 A B7o] Qleriith
Q17 P4 0.

> E. ke

[> gl 14kg

i O

G AR BAE B kg

2.8t = 2800 kg
S AARS] A1 2800 + 200 = 14( kg)
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71Z (m) | 383639
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B AR G + A= A
WA : AR Ax B
37 x4 — (38 + 36 + 39) = 148 — 113 = 35 (m)
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16. 1km?9] =2 9 ha UA] FoHA 2.,
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= ha
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> HE. 25ha

1km?2 = 100 ha o] B2
1
100 ha 9] Z% 25ha 44t}




42000( ) =420( ) =42ha
@ m2, cm? @ km?, a B)m?, a
@ ha, m? ® ha, a
1ha = 100a = 10000 m?
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36000 ha = 360 km? O] L2
360 =9x[ |+2,

9x[ =720,

[ ]=80(km)
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78 77 86 77 96 55
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Wt Foto], 2 WA LHE Hlx] dolFyTh
Bt = 2= A A= o] A5

953 + 12 = 79.416 - --

— 9F 7974

SlEol9 dA2 e Hg Yoz R "YUy

1




20. A3 diF9] 72 g2 goll A A e r 7
=5l A== FokA L.
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(1) &9 B+t 7128 s L.
2) 9] B+t 7]2& FoHA L.
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> H °C
> = °C
> ®gh: 18.4°C
> F=e 19.2°C

2
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Ago] B 71L&
(14 4+ 16 + 23 + 22 + 17) + 5 = 18.4(°C)
EEREERCE
(15 + 16 + 25 + 24 + 16) = 5 = 19.2(°C)
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(81.3 + 76.6 + 82.8)

(WA= 158.8 = 2 = 79.4(cm)
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(540 + 620 4[|+ 450) + 4 = 470
1610 +[ J=470x 4

1610 +[ = 1880

[]=270(7t=))




